
 Lösungen ÖH-Infoday  

Visuokonstruktion 

 

1 - A 

2 - D 

3 - A 

4 - B 

5 - A 

6 - E 

7 - E 

8 - C 

9 - B 

10 - D 

11 - A 

12 - B 

13 - E 

14 - D 

15 - C 

 

 

 

 

 

 

 

 

 

 

 

Zahlenfolgen 

 

1 – D 

(-2, +3, -4) 

 

2 – E 

(*2+2, *2+3,…)  

 

3 – E 

(1+2, 2+3, 3+5) 
Rekursiv (Addition) 

 

4 – C 

(-2, -7,  2er Sprung) 

 

5 – A 

(Multiple: rekursiv 
3*3, 3*9, 9*27  

und *2+1) 
 

6 – B 

(3, *5, +2) 

 

7 – A 

(+2, /2, +4) 

 

8 – A 

(Multiple: +3   
und +1) 

 

9 – B 

(-7, *3, +8) 
 

10 – E (110/98) 

(-5, -6, -7, -8, etc.) 

 

 

 

 

 

Wortflüssigkeit 

 

 

1 – D  (Blech) 

2 – A (Mensch) 

3 – E (Grafik) 

4 – D (Ballast) 

5 – C (Ausland) 

6 – A (Fenster) 

7 – E (Ergebnis) 

8 – C (Aufnahme) 

9 – A (Mietwagen) 

10 – D (Handstand) 

11 – D (Lagerfeuer) 

12 – B (Fabelwesen) 

13 – C  (Entwicklung) 

14 – D (Deutschland) 

15 – C (Hamster) 

 

 

 


